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5 (ii)  1.2 + 2.3 + 3.4 + ………………………………. 

n msL¨K c` ch©šÍ mgwó wbY©q Ki: 

 avivwUi n Zg c` 𝑡𝑛 = {1 + (n-1)1} { 2+(n-1)1}  

= (1 + n - 1) (2+ n - 1) 

= n (n + 1) 

= 𝑛2 + n 



n = 1, 2, 3…………BZ¨w` emvBqv cvB,  

n = 1, 1g c`  = 12 + 1 

n = 2, 2q c`  = 22 + 2 

n = 3, 3q c`  = 32 + 3 

…………………………………………………………………… 

n Zg c` = 𝑛2 + n 

𝑠𝑛 = 12 + 22 + 32 + … … … + 𝑛2 + (1 + 2+ 3+ … ………..+n) 

=  
𝑛 𝑛+1 (2𝑛+1)

6
 + 

𝑛 (𝑛+1)

2
 

=  
𝑛 (𝑛+1)

2
 

(2𝑛+1)

3
+ 1  =  

𝑛 (𝑛+1)

2
 

2𝑛+1+3

3
 

=  
𝑛 (𝑛+1)

2
 

2𝑛+4

3
 =  

𝑛 (𝑛+1)

2
 
2(𝑛+2)

3
 =  

𝑛 (𝑛+1)(𝑛+2)

3
 

Ans 
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1.22 + 2.32 + 3.42 + ………………………………. 

n msL¨K c` ch©šÍ mgwó wbY©q Ki: 

 avivwUi n Zg c` 𝑡𝑛 = {1 + (n-1)1} { 2+(n−1)1}
2 

= (1 + n - 1) (2+n−1)2  

= n (n + 1)2 

= 𝑛 (𝑛2 + 2n+1) 

= 𝑛3 + 2𝑛2 + n 



n = 1, 2, 3…………BZ¨w` emvBqv cvB,  

n = 1, 1g c`  

n = 2, 2q c`  

n = 3, 3q c`  

…………………………………………………………………… 

n Zg c` = 𝑛3 + 2𝑛2 + n 

= 13 + 2.12 + 1 

= 23 + 2.22 + 2 

= 33 + 2.32 + 3 

𝑠𝑛 = 13 + 23 + 33 + … … … + 𝑛3 + 2. 12 + 22 + 32 + … … … + 𝑛2    
                                                       + (1 + 2+ 3+ … ………..+n) 

=
𝑛 (𝑛+1)

2

2
+

𝑛 𝑛+1 (2𝑛+1)

6
 + 

𝑛 (𝑛+1)

2
 

=  
𝑛 (𝑛+1)

2
 

𝑛 (𝑛+1)

2
+

 (2𝑛+1)

3
+ 1  



=  
𝑛 (𝑛+1)

2
 

3𝑛 𝑛+1 +2 2𝑛+1 +6

6
 

=  
𝑛 (𝑛+1)

2
 

3𝑛2+3𝑛+4𝑛+2+6

6
 

=  
𝑛 (𝑛+1)

2
 

3𝑛2+7𝑛+8

6
 

=  
𝑛 (𝑛+1)(3𝑛2+7𝑛+8)

12
 Ans. 
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5 (ii)  3.4 + 4.5 + 5.6 + ………………………………. 

n msL¨K c` ch©šÍ mgwó wbY©q Ki: 

 avivwUi n Zg c` 𝑡𝑛 = {3 + (n-1)1} { 4+(n-1)1}  

= (n +2) (3+ n ) 

= 𝑛2 +2 n + 3n + 6 

= 𝑛2 +5n + 6 



n = 1, 2, 3…………BZ¨w` emvBqv cvB,  

n = 1, 1g c`  

n = 2, 2q c`  

n = 3, 3q c`  

…………………………………………………………………… 

n Zg c` = 𝑛2 + 5.n +6 

= 12 + 5.1 +6 

= 22 + 5.2 + 6 

= 32 + 5.3 + 6 

𝑠𝑛 = 12 + 22 + 32 + … … … + 𝑛2  +5 (1 + 2+ 3+ … ………..+n) 

=
𝑛 𝑛+1 (2𝑛+1)

6
 + 5 

𝑛 (𝑛+1)

2
 + 6n 

=  
𝑛 (𝑛+1)

2
 

𝑛 (𝑛+1)

2
+

 (2𝑛+1)

3
+ 1  

+ 6 (1+1+……….+1) 

= 𝑛
 𝑛+1 (2𝑛+1)

6
+ 5 

 (𝑛+1)

2
+ 6   



= 𝑛 
𝑛 + 1 2𝑛 + 1 + 15 𝑛 + 1 + 36

6
 

= 𝑛 
2𝑛2 + 2𝑛 + 𝑛 + 1 + 15𝑛 + 15 + 36

6
 

= 𝑛 
2𝑛2 + 3𝑛 + 1 + 15𝑛 + 51

6
 

= 𝑛 
2𝑛2 + 18𝑛 + 52

6
 

= 2𝑛 
𝑛2 + 9𝑛 + 26

6
 Ans 


